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	2018 April Latest Cisco 210-260 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 210-260 Real

Exam Questions:1.|2018 Latest Cisco 210-260 Exam Dumps (PDF & VCE) 368Q

Download:https://www.braindump2go.com/210-260.html2.|2018 Latest Cisco 210-260 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNV1RGaFJYZkxGWFk?usp=sharingQUESTION 116Which

accounting notices are used to send a failed authentication attempt record to a AAA server? (Choose two.)A.    start-stopB.   

stop-recordC.    stop-onlyD.    stopAnswer: ACQUESTION 117If the native VLAN on a trunk is different on each end of the link,

what is a potential consequence?A.    The interface on both switches may shut downB.    STP loops may occurC.    The switch with

the higher native VLAN may shut downD.    The interface with the lower native VLAN may shut downAnswer: BQUESTION 118

Which type of IPS can identify worms that are propagating in a network?A.    Policy-based IPSB.    Anomaly-based IPSC.   

Reputation-based IPSD.    Signature-based IPSAnswer: BQUESTION 119By which kind of threat is the victim tricked into entering

username and password information at a disguised website?A.    SpoofingB.    MalwareC.    SpamD.    PhishingAnswer: D
QUESTION 120Which Cisco product can help mitigate web-based attacks within a network?A.    Adaptive Security ApplianceB.   

Web Security ApplianceC.    Email Security ApplianceD.    Identity Services EngineAnswer: BQUESTION 121Which statement

correctly describes the function of a private VLAN?A.    A private VLAN partitions the Layer 2 broadcast domain of a VLAN into

subdomainsB.    A private VLAN partitions the Layer 3 broadcast domain of a VLAN into subdomainsC.    A private VLAN enables

the creation of multiple VLANs using one broadcast domain D.    A private VLAN combines the Layer 2 broadcast domains of

many VLANs into one major broadcast domainAnswer: AQUESTION 122Which Cisco feature can help mitigate spoofing attacks

by verifying symmetry of the traffic path?A.    Unidirectional Link DetectionB.    Unicast Reverse Path ForwardingC.    TrustSecD.  

 IP Source GuardAnswer: BQUESTION 123What is the most common Cisco Discovery Protocol version 1 attack?A.    Denial of

ServiceB.    MAC-address spoofingC.    CAM-table overflowD.    VLAN hoppingAnswer: AQUESTION 124What is the Cisco

preferred countermeasure to mitigate CAM overflows?A.    Port securityB.    Dynamic port securityC.    IP source guardD.    Root

guardAnswer: BQUESTION 125When a switch has multiple links connected to a downstream switch, what is the first step that STP

takes to prevent loops?A.    STP elects the root bridgeB.    STP selects the root portC.    STP selects the designated portD.    STP

blocks one of the portsAnswer: AQUESTION 126Which countermeasures can mitigate ARP spoofing attacks? (Choose two.)A.   

Port securityB.    DHCP snoopingC.    IP source guardD.    Dynamic ARP inspectionAnswer: BD!!!!RECOMMEND!!!!1.|2018
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